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(1) The part I got confused on was the criterion

for Fixed points for continuous time
.

I had the

correct procedure for the rest. I misremembered

& thought continuous t discrete found Fixed /equilibrium

points the same way, but remembered the difference

between the two for stability .

Ii ) For ✗
'

A) =3 ✗ (t) ( 1- ✗ (t))
Find FP & SFP

FP : FC×7= 3×11 - x)
3×51 - x) =D

3×-3×2--0

✗ (3-3×7=9
✗ =D

, I

SFP : 3- Gx = F' Cx)

f- '(6)=3

F' (1) =-3 ⇒ negative ⇒ stable

FP:{0,13
,
SFP={ I }

( ii) ✗
' (f) = - 7- ✗ (t )

FP : f-(x) = - 7- ✗

F( ✗7=0 = - 7-✗

FP={ 0}
f- ' ( ✗7=-7

SFP " {0}

(2) We are making progress on our project


